






Rys. Oznaczenia niewiadomych q

 i orientacja prętów.

qT= f 1 f 2 f 3 u1/a v1/a u2/a v2/a 

B[a] 
       

1 0 0 0 0 1 0 0 

2 0 0 0 -1 0 1 0 

3 0 0 0 0 0 0 1 

*B[1] 
       

1 0 0 0 -1 0 0 0 

2 1 0 0 0 -0.5 0 0.5 

3 0 0 0 0 0 -0.5 0 

B*[1] 
       

1 1 0 0 -1 0 0 0 

2 0 1 0 0 -0.5 0 0.5 

3 0 0 1 0 0 -0.5 0 

 
E[EA/a] 

 
1 0 0 

0 0.5 0 

0 0 0.5 

  
D[EJ/a] 

 
2 0 0 

0 1 0 

0 0 1 

 

 
Q[Pa] 

f 1 0 

f 2 0 

f 3 0 

u1/a 1 

v1/a 0 

u2/a 0 

v2/a 0 
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K= BTEB+2*BTD*B+2B*TDB*+*BTDB*+B*TD*B 
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